|MaTH 331 MISSION 7 |

Copying answers and steps is strictly forbidden. Evidence of copying results in zero for copied and
copier. Working together is encouraged, share ideas not calculations. Explain your steps. This sheet
must be printed and attached to your assignment as a cover sheet. The calculations and answers should
be written neatly on one-side of paper which is attached and neatly stapled in the upper left corner.
Box your answers where appropriate. Please do not fold. Thanks!

Problem 73 Your signature below indicates you have:

(a.) I have read Sections 5.5 — 5.7 of Gamelin:
(b.) I have read Cook’s Guide to Sections 5.5 — 5.7 of Gamelin:

Problem 74 §V.4 # 1d, le, 1f (page 147),
Problem 75 §V.4 # 2 (page 147),
Problem 76 §V.4 # 8 (page 148),
Problem 77 §V.4 # 10 (page 148),
Problem 78 §V.4 # 12 (page 149),
Problem 79 §V.5 # 1 (page 151),
Problem 80 §V.6 # 1 (page 153),
Problem 81 §V.6 # 5 (page 154 ),
Problem 82 §V.7 # la, 1b, 1¢ (page 157),
Problem 83 §V.7 # 2a, 2b, 2¢ (page 157),
Problem 84 §V.8 # 2 (page 162),

Bonus: prove Theorem 5.2.7 to establish the equivalence between the standard formulation of uniform
convergence and Gamelin’s version. (this is worth 5pts if done neatly)
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